ERBRAROHBERT—IN—ZBISH—F
M USR3m KBF (BS) Sk

JEEDT
[AXE%) 1 & :5,500,000  ~ 23&:2,200,000 337%&:1,400,000 . 4 7% :830,000 9 5 & :550,000

2023F18218 () 1B/NE3H
‘(fﬁ} W ‘I%EH?’JF&] ~ | 5 100 7=

BRE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
B. AILYNT . - . . BHET ERN)
1 10 BRITY IR 4 3 50 1’28_;1 7-6 34.8| 8.7 | 2 1’2(1);1 %EEPE.E
A:Into Mischief £ :Zapara Brookstone Farm &
— 50 4 3 | IERAKE 58.4 11 35.6| 86.6 | 3 486 | SHED (ER)
2 3| U—=FTVR A51.0 F93) 8 |BTER
RUFIVAT 4= B:T—ILET7— EllEe]
3 4 3 | FRER 58.9 2-2 36.1] 82.4 | 4 468 | FERL EH)
317111 JXEY3 w7 [B] 56.0 ?3) (-6) (B) EvIULyRI7—L
R:7ROFVISL B:I3U—V Y19 TT7—A
57— S 3 BHEXEF 58.9 3-3 36.0( 81.9 | M 482 | RARL ()
41813/ 7A77—AFv> 54.0 F9) tg) | PER
RiFPAT7—=VVT BIIRTATAT7S HREt F—RIT7—L
~ 3 IR 59.4 5-6 36.1| 76.5 5 477 | FEE= EH)
5 5| ®@U4—9—LEY # A54.0 3) 4 |TEWLTAY
A:Lemon Drop Kid £ :Aquapazza Barry R Ostrager
~ o'~ 4 3 SR 59.5 4-4 36.4 | 76.3 1 452 | FHE FR)
6 4| NV T=F VR A51.0 /2 o |BESHYILY
R:yvvINARE— B:FUIVIILI VR (B) #BI1—RL—ravEEI 7
o < AEAF . - . . BHR— ER)
7 7| NHT72V92R CE A 0 (519/26) & S RN (gg) (%) #illIeE
Ri—5—vvT 8754 hIO-T NVERNTT—L
9 —_ = S - KIRHZ (FR)
8 2 FPIwhAT1SY 4 3 i (1591./84) 9-9 359|725 | 6 (4:3(:1) 2
RINZAKNDA—UT B:iAVTLwIT €y rRF=TI
= =~ KEXRRH . - . . FAKHE (FER)
N .BEEEEEsS 2 | 8% g | v [we|na| | @ E
RiARASRZ—9 B:ASTILI—XAR #HET7—L
t 3 | EHE 1:00.0 M-11 [35.9| 70.5 | 14 | 404 |/IINHEE (ER)
10/5]8 | 9¥Z & 54.0 ) (g | BB
RiRkyId—9IYI B:UF1IX LIRS
S __ 43 | EREt 1:00.2 9-10 36.3] 68.8 | 10 | 482 |FA &R
11814/ VIR 2F A4S 0 (1 1/4) 4y | @0 IR
RiVIAI—ZZRI— BRAY—K7ILT7 FPLLEHRIS
= 1 &De 19 TEEEREA 3 - afesr E=R)
N « IREE=>BPrA |t (11010/25) 14-14 354 65.5 | 12 zg)s Sy
R:LYRIFIVIR BVIZUTIVY ERRERUS
S ~ W 4t 3 RET 1:00.6 11-13 36.4] 65.0 | 13 448 | IMEWLIE (EH)
1317|121 ¥aveY A52.0 (3/4) 4y |PRBE
R:¥a—hnrF—/ B:NFHRZ HMUBRUS
S ~ 4t 3 EOEE 1:00.8 11-1 36.6 | 63.2 9 370 | MTRL GER)
1411 | ¥Ry 54.0 (1172 W) | @ I—r—=
Ri/ITURL B:I—ZFZAR—)L Hiat BEWS
[ I N
En'y 46.2-35.6
NOYIA L | 12.2-10.6-11.6-11.8-12.2
@ 1—F—&BIEL
13—7—
20—+ —
3al=zr= (*3,11)13,4(5,6)10,7(2,14) (1,8,12)=9
40—7F— (+3,11)-13,4,6(7,5,10)2,14(1,8)-12-9
0 I\RE
B B 10 340 | | DA B 3-10 7904 = 3-6 220/ 3hEE | 3-10-1 9,500/
8 B 10 4009 10-11 540 5= 3-10 2,880 3EH 10-3-11 27,410M
3 1,160H 3-1 1,900H4 5 B 10-3 3,590
1 1,220M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




